[ - 230 =
4 f1 4 £ 3 H 25 H
®, it AT ® B
WA~ SR BBHC W TRE LT FRE TR EF F 19435 1
ERROBREEBI=DOTERLET, METHTKEKERERERER
K B B E R R B a ok W

25 x Hh M| E Kk | E KRN KR KB R
& Bl £ K £ K SN K £ K
B® 7K i A A R4. 3. 22 R4.3. 22 R4, 3.22 R4. 3. 22 R4. 3. 22
" i & wmo e B A LA F [
B B A oE OB | Ak E OB Kk EBR|KER|KER
x {53 W B | m /| R/ K| R ®| WK
& |t 11.0 11.0 11.0 11.0 11.0
piN B o(C) 13.0 12.0 14.0 14.0 13.0
- % it B (ol o) 0 0 1 0 1
PN 15 [ Rl (=43 Rt =3xS Rt
B ok B A A () 5.6 5.6 5.6 8.4 5.7
HH Mm% (T0CD &) (ne/l) 0.3 5 0.3 Hrg 0.3 K7 0. 56 0.3 R
pH 1 6. 98 6. 79 7.01 7.52 7.13
g E RERL B2EL BERL BERL RERL

3 RESL RERL B¥eL RERL BEERL
=) E O(E) 0.5 i 0.5 A 0.5 Wb 0.5 R 0.5 Ry
) -. B ) f0p AR |02 R | 0 R 0k | 0.2 Rl

i (2
1\O)
i a £ P ]

) € i i i i i
i i # ] &FfaE3B22 8 ~ WFI44E3H2A
® & H 1 HTrTHEFEAERKERERE V¥ —
® I =" £ & EE BT




BB E 230 &
4 fn 4 £ 3 B 25 H

® 1t Y B B
WUET~RH S BB oW TRE L FB TR P 1943%
EREROBBEF /-0 THRALET, T KEXKERERRSR
K 8 B B K R FC 2 & @ O

® i Hh Rl & K 4 ) = B |BEWHAE|ERAEH
L Vil £ K £ X £k RSN £ K
=4 Ko A H R4. 3. 22 R4. 3. 22 R4. 3. 22 R4. 3. 22 R4. 3. 22
87 il & LA = BE L i e & T A
By B K OE B K OB OB | Kk E B | K EBR| KER
x & m S| WS B W K| W WS R
= | o) 11.0 11.0 11.0 11.0 11.0
7 B (T 13.0 13.0 15.0 12.0 13.5
— s b B (oL ) 0 1 1 0 1
K & & Rt (=153 =3k Rt Rt
B Ot B 4 F ¥ () 5.6 5.1 8.4 5.3 4.1
HEHS (T0CD &) (el 0.3 Ri 0.3 AR 0. 54 0. 67 0. 58
pH 18 7.32 6. 89 7.64 7.48 7.11
g2 = BERL RERL RERL BERL Bl

S BEA2L Byl BERL Byl RERL
& E (E) 0.5 ¥l 0.5 AR 0.5 R L0 1.4
B E (F) 0.2 HKH 0.2 i 0.2 H¥H 0.2 0.2 i
H € i i i i# H
% %= # =t SFI44EIA2H ~ STM4IE3IALBEAE
R & B 2] P FARKEKEREE v ¥ —
® & =" £ £ BmE BT




Mo BB 230 &
4 4 % 3 A 25 B
oA el HT ® B
YAT~RH IR DWW TRE L T TR EFF1943% 1
WRROBRBEEB-OTRILET, ETHAIAEAKEREREBSE
K B B B K B EC &8 kw0
£ 7 Hh R|BHBEK | BHRET~| E I VN T K %
(i Al £ K koK oK £ K koK
B i =3 A =] R4, 3. 22 R4. 3. 22 R4. 3. 22 R4. 3. 22 R4.3.22
B® PN & = ¥ e R 7 B AR
BT B A OE OB | Kk E B | Kk E BR[| K EBR| KER
x 1 W W | @ |8 M| W E| WK
S B (C) 11.0 11.0 1.0 11.0 11.0
Pt B.o(C) 12.0 13.5 14.0 11.0 14.0
— 1 f B (ul %) 6 1 1 1 1
x 15 ] (43 (=43 (Y3 (=33 fafE
ok B a4 F v () 4.4 5.5 6.9 6.9 4.9
B mE (TC0 KE)  (me/l) 0.58 1.13 0.37 0.36 0. 64
pH & 7.76 7. 69 7.61 7. 60 7.78
R = BEeL BEaL RERL BElL BERL
73 RERL HEEL BRERL ¥l B¥E2L
&) E o) 0.7 1.7 0.5 KW 0.5 HiH 0.8
8 B (E) 0.3 0.3 0.2 i 0.2 H¥ 0.2 K
) E i b i i i
Zid # # H SF4EIH2A ~ HT4FEIABEAE
% E i ] T A AEKRKERER v F —
% & =1 £ & EE BT




2} el

a7

' B

LT~ SR BB > TRE L
FRERROBREEBZOTRHMLET,

[ 230 &
4 fn 4 % 3 B 25 H

FEIB TR T 19438
BETHAKEKRERERBSE

K E B E K K EFC »r & w0

23 S #h RKOBE O
i il Eox
£ VS £ A H R4. 3. 22
B * & L
BT B X E R
x & H SO
= B () 11.0
S |occe) 12.0
- k4 i B (L ) 3
x 15 [ (=33
e & B A4 F () 6.7
AWM HE (T0CO &) (L) 0.3 i
pH S 7.53
B e BERL

S BERL
=) B OCE) 0.5 i
& EO(E) 0.2 W
H 7E ]
® *E # A Sf4asE3F228 ~ HM4FEIA2BAE
® & ;-] 5] HPHAFAERKEREE V7 —
% %= #H £ & BHE BT




[Ea < ) 230 &
4 Ffn 4 % 3 A 25 B
) =l 4 i) B B
WA~ E R HC W TIRE L FHRS TR E T H 19435 M
EREOREELB-OTERLET, T GERKEREDRSR
K B E R BEC R ok wm )
B ViiS Ht R m & £ % g B % B ox &
i 3 =N E E: * A * A
&% 7K 1 A H R4, 3. 22 R4. 3. 22 R4. 3. 22 R4, 3. 22 R4. 3. 22
% Vi H BREC | RBMBELO|RAEBC|RMEBEC|2RMEC
i B A oE OB kB B | Kk EBR|AKER| K BEBER
x 3 w W | ® W | W/ OW| WK | W E
e \ () 11.0 11.0 11.0 11.0 1.0
VS B (T) 13.0 13.0 13.0 12.0 13,0
— 3 A B (oL &) 1 2 0 2 2
X 1% ] =35 [=3k3 =4k Rt =3k
H ok B 4 A v ) 3.8 3.5 5.3 5.3 5,2
R HE (T0C D &) () 0.35 0.3 ¥ 0.73 0.73 0,74
pH el 8. 03 7.77 7.79 7.93 7,88
R =K EE2L BERL BE¥L BERL BERL
73 #E2L BERL BAEARL BER2L EERL
=) B oK) 0.5 R 0.5 A 0.7 0.7 0.8
B B (E) 0.2 R 0.2 R 0.2 F¥i 0.2 i 0.2 FKik
# E b i} i i i
" ' # A HF45E3H 228 ~ SF4EIALA
% =5 B 23] P FARKEKRKERERE 5 —
% & " £ £y e B




mEREE 230 &
4 % 4 8 3 A 25 H

| it iy E B
W~ EN-REHC YW TRE LR R E T RE RS 7 19435 8
ERROBRBEEZBLOTERLET, B KEAKERERBSE

K B B EBE K R EFC 2 o wm

£8® i i Bl B Nk [ B %
i il * £ # *
23 iid F A A R4.3.22 R4. 3. 22 R4. 3. 22
22 7K * Gl el - 1 7N T
BT B X GE B |k E B | K ER
x 3 W | W/ B | WS
K H (TC) 11.0 11.0 11.0
pi B CCH 13,0 12.5 12.5
— 1% # B (nL %) 1 2 0
K 15 1] =35 (=43 (=313
Bt B a4 A v (e 3.6 4.5 4.5
HEHmE (T0CHE) (el 0. 31 0.53 0. 54
pH il 7.93 7.76 7.77
R K BERL BERZL BERL

3 2EL REReL EEL
=) B (®E) 0.5 Rifi 0.9 1.0
el E oK) 0.2 Hif 0.2 i 0.2 R
H E i H #
® &= 9 =! ST44E3H28 ~ SFT4FEIHA2BA
B &= B (3 MPH A AEREREE VI —
® =1 £ & BE BT




